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Atotal = Aleft_right_wallst Afront_rear_ walls T Atop_bottom_walls

AT = T? - T1
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L, := 115in
W, := 5.5in
H2 = 3in
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Aleit_right walls'= 2'(WHp) = 0.021m
i _ 0.045m2
Atront_rear_walls = '(Lz‘Hz) = 0.045m
A = 2(LyWy) = 0.082m°
top_bottom_walls -~ ( 2 2) =0.082m
— Y )
Atotal = Aleft_right_walls * Afront_rear_walls * Atop_bottom walls = 0-147m
AT = T2 — Tl
Ty := 10°C = 283.15K
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POWerormal_operation °

Qconvection = POWeormal_operation

"There are numerous methods for calculating the heat transfer coefficient in different heat
transfer modes, different fluids, flow regimes, and under different conditions. Often it can b
estimated by dividing the thermal conductivity of the convection fluid by a length scale per
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